AUTOMATIC TENSIONERS TYPE TC

Automatic tensioners type TC-TCP-TCR are automatic devices which allow you to keep the right chain drive tension so it can last longer.

In addition they recover the stretching that the chain has little by little during is functioning so you can avoid noises and vibrations caused by its
slackening.

These automatic tensioners do not need the intervention of any workers so you can save time for the maintenance and for the control of
machineries on which they are set up.

These automatic tensioners are particular for the following elements :

- In both sense of rotation you need a tension angle of 45°.

- There aren’t plastic materials so you can rich a temperature of 130°C

( Type TCP with a polyethylene 1000 head can resist to a temperature of max 65°C.)
The internal elastic elements, made of special steel with a very high yielding limit and with a starting pre-tensioning, allow you
to get a pressure excursion as much steady as possible.

- You can set them up very easily as they can be fixed to the machinery with external or internal screws, and they have a back
lock device to avoid rotation and they get also notches to lead the pre-loading and the unloading.

- The high quality of the materials, the care in the execution, the simple functioning, the low prices made this product a
practical, cheap and safe one.

So we have all the following elements:
- Steady tension of the belt or chain drive
- Noise reduction
- Better efficiency of the transmission
- Lesswear and tear
- Cheaper and easier to set up.

Automatic tensioners type TC-PU and TC-PUG are devices with a pulley. With traditional systems when the belt is too tightened the
transmission devices bearings work too hard and so when the belt grows longer you can have some slipping with relative damaging vibrations
ot

Fisatech s.r.o., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



REFERENCE NOTCHES — i
10x1,5

4° 8ON IS 1) BE—— S

37N

2* SON

B Bl NEVWTON

CcOD MM ' R A A Kg

TCUS aU _ il bo m/m 0211
TCO535 30 . al a5 mim 0211
TCO5105 a0 . aill 105 mim 0211
TCO5125 30 _ il A 125 mim 0211
TCOSMB Al _ il MBS x 1,25 0211
TCO5M10 30 | 80 M10 x 1.5 0,211
TCOSM12 a0 ol M12 x 1.75 0211

On demand we can make different threads compared to those
yOou can see on our catalogue

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



PLASTIC MATERIAL

4
AlS| 316
i

TC 08 INOX

100% Alimentare

o
i Pl
< A
e 0N
T dh T
f AN %
IXQ\ ::"‘"} “fi:f“
N B
r 4 \
86-5 \\:‘:} (X N\
\“’-\3» W,
u\"\\
W
WA
'
Mi0x1,5—
\ "/
1°40 N — ~~ REFERENCE NOTCHES
2°90 N e
3° 150 N = B—’E:;
4°210N - — 70 o 1-~—31—-|-5--|—
NEVYTOMN
CoD TS o A Koy B
TCOSINOX 40 | 210 b3 mm 0,250
TCOBINOXB5 40 210 @ 85 m/m 0,250 GREASER (B)
TCOSINOX105 40 210 @105 mi/m 0 250
TCOSINOXT25 40 _ 210 125 mim U 25l
TCOSINOXME 40 210 ME x 1,25 0,250
TCUSINOXM10 40 210 MI1O x 1 5 0,250
TCOSINOXM12 40 210 M12 x 1,75 0 250

A

On demand we can

make different threads compared to those you can see on our catalogue

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk




ALUMINIUM

4*180N | ~~REFERENCE NOTCHES

3*120N
2* 80N
1* 50N
NEWTON
e T R B
TC 50 180 | @82m/m | 0444
TC1105 50 180 | @105 m/im |  0,444|ADD ING” TO THE CODE FOR THE GREASER (B)
TC1125 50 180 | @125mim | 0444 )
TC1145 50 180 | @145 m/im | 0,444
TCIM10 50 18C M10 % 1,5 ),444
TC1M12 50 180 | M12x1.75 ),444 TCT + ING = TCHING
TC1M1B 50 18C M16 x 2 0,444

On demand we can make different threads compared to those you can see on our catalogue

A

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



100

/

g
L&

@

"/ ALUMINIUM

TC 2

f:f

i
o
[N

15

REFERENCE NOTCHES
M12x1,75
= — Y
NEVYTOM
wHH P MAX g | g
TC2 120 500 @ 8,2 m/m 0,885
TC2105 120 500 @ 10,5 mfm | 0,885
TC2125 120 500 @ 125 mim 0,885
TC2145 120 500 @ 14 5 mim | 0,885
TC2165 120 500 @ 16,5 m/m | 0,885
_ el TC2185 120 500 @ 18,5 mim | 0,885
e TC2M10 120 500 M0 x 1.5 0,585
e’ 38N — TC2M12 120 500 M12 x 1,75 | 0,885
1* 220N — TC2M16 120 500 MI1E x 2 0,885
TC2M20 120 500 P20 x 2.5 0,885
On demand we can make different threads compared to
A those you can see on our catalogue

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCP 05

OVAL HEAD S
i
C
¥
POLYETHYLENE
R
. " B 1
- | 75° EWTON
NEWTL
|
N
g
| Npir =,
A - T
i‘r; Y £ .
4 AN T80
75.;5 1‘:\ -%x.-'?%
._:\ %‘%‘
=N RNR
\\ X
x"‘*@h
DR Y
\Y. e
1 »

* 80N —
* 70N )

P SON
* 3N

— U W A

coD

TCP050385
1CP050580
TCP0S0T25
1CP050120
TCPOS0ASAISS
TCPOS0ASASD

TCPOS0ASALDS
TCPOS0ASA40D

—M10x1,5
63 -
e CHAIN PITCH
B | ¢ | O

MIN | MAX
38" x7/32" | OB |
38" X 7132
861 | X
30 | B0 [12«EME"|0BB2 | 0 | M | 70
6C2) X
30 | 80 | ASMO JOBAT| X0 | 34 | 70
_ 30 | 60 | ASMO2 JOBA2| 26 | 34 | 70

el | el | canth | el | cml | el [ b | el rm
oI C0OI1I0O1CcOI10O10O10O1c9

- S

-Mlit'll'_"IIIIII'_'II'_'I =
- B

Mujjdujidajidujjidujfdul fdwl da

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCP 05

ROUND HEAD

POLYETHYLENE

4* 80N
3* 70N —

2* SON
1* 30N —
NEWTON
~OD | CHAIN PITCH - - - - Kg
MIN | MAX

TCPOST38S 30 | B0 |3 x7/32" | 06B1 | 20 | 34 | Tt 10 [ 0286
TCPO5T380 3 80 [3@"x7/32"[oeB2 | 20 [ 34 [ 7C 10 | 0288
TCPOST38T 30 | 80 [38"x7/32" [ 06B3 | 26 34 | T 0 [ 03
TCPO5T12S 30 80 [172"x5M6" [ 08B1 | 20 [ 34 [ 7C iC 0,286
TCPOSTI2T 30 80 [172"x5M6" [ 08B3 | 345 | 34 [ 7C 1C 0,315
TCPOSTASA3SS 7C 10|
TCPOSTASA3SD D 1C
TCPOSTASA3ST 7C 10|
TCPOSTASAADS 7C 10|
TCPOSTASAAOD 7C 10|
TCPOSTASAAOT 7C 1C

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCP 1

OVAL HEAD

POLYETHYLENE — B =~
NEWTON— [ L | "~ NEWTON -5 e ~
N\
T O
80 60\ —
// f , _} B . CH 19
i r = ~ | | E H‘x\ -
N7 N /3 N7
P ', P
N = \Q\ /y =0 W
£ 1 /Y IR X7 D
5 % SO Z . .
: -' 7 RN /
ges o & S /i , \@4’
N i iy
WA b / = Wty
WAN, iy
Y /A Wil -
N 7
r N/ W CH27
M10x1,5— — '
4 418N
REFERENCE NOTCHES - *~ ALUMINIUM —3 -
| o 2 BON
_ s i BON
i 70 " - 30 ~5= %
NEWTOR CHAIN PITCH CHAIN PITCH
COD B C D E | Ky CcOD B C U E Ky
MIN | MAX
| [TCP10385 [ 3/"x7/32" [06B1 [ 20 [ 34 [ 70 [ 10 [0524] [TCP10ASA3SS | ASA35 [06C1[ 20 [ 34 [ 70 [ 10 [ 0525
TCP1038D [ 38" x 732" | 06B2 | 20 | 34 [ 70 | 10 | 0524) |TCP10ASA35D | ASA35.2 |06C2| 20 | 34 | 70 [ 10 | 0525
TCP1O125 [ 172" x 516" | 0881 | 20 | 34 [ 70 | 10 | 0524] |TCP10ASA40S ASAAD |O0BA1[ 20 | 34 | 70 | 10 [ D525
TCP1012D 172" x 56" | 0862 | 20 | 34 | 70 [ 10 [ 0524] [TCP10ASA40D | ASA4D2 [0BAZ2| 26 | 34 | 70 | 10 | D536
TCP10585 of8" x 38" | 10B1 | 22 | 44 | 30 | 14 | 0559] |[TCP10ASASDS ASASD [ 10A1 [ 22 | 44 | 50 | 14 | 0556
a0 | 180 |TCP1058D 68" x 38" | 10B2 | 25 | 44 | 90 | 14 | 0576] [TCP1OASAS0D [ ASAS02 | 10A2| 30 [ 44 | 30 | 14 | 0,583
TCP10345 | 3M"x 716" | 1281 | 22 | 44 | 90 | 14 | 0,559] |TCP10ASABDS ASABD [ 12A1 [ 22 | 44 | 90 | 14 | 056G
TCP1034D A" x 7AR" | 1282 | 30 | 44 | 90 | 14 | 0584] [TCP10ASABDS ASASD | 1B6A1[ 25 | 54 | 110 [ 185 [ D606
TCP1O1S (1" 17 mm | 16B1 | 25 | &4 [ 110 [ 185 | Op14) |TCP1OASATO00S | ASATOD |20A1] 25 | 54 | 110 [ 185 | 0606
TCP101145 | 1M1/ x 34" | 2081 | 25 | 54 J [ 185 [ 0p14] [TCP1OASA1205 | ASAST20 | 24A1 | 25 | 54 | 110 | 185 | 0606
TCP101125 121" | 24B1 | 25 [ 54 [ 110 (185 | Obl4

ADDING" TO THE CODE FOR THE GREASER (B)

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk

TCP1038S + ING = TCP1038SING




TCP 1

ROUND HEAD

- 15-= B

POLYETHYLENE

_~—NEWTON Tl ‘
60° ] H C
T, [om 19
MHH\..\ - - ! ]
77 N Jr*m
147 . N 5
.::(;_ .L_./“ '
e A s
' 4 J /,
RS
/4
i,
Wy 4y

M10x1,5—

&
"

—— |~ ALumINUM I

3*120N

2* 80N

- 70 " 1* 50N

NEWTON
— CHAIN PITCH a | o | o e | ke — CHAIN PITCH a | & | o e | K
MIN | MAX

TCP1T38S 8" x7/32" | 06B1 | 20 | 34 | 70 | 10 | 0524] [TCP1TASA3SS ASA35 |0BC1]| 20 | 34 | 70 | 10 | 0525
TCP1T38D 38" x 7/32" | 0bB2 20 34 70 10 0524] |TCP1TASAISD ASATS 2 O6C.2 | 20 34 70 10 | 0525
TCP1T38T 38" x7/32" | 06B3 | 26 | 34 | 70 | 10 | 0535| [TCP1TASA3ST ASA353 |0BC3| 244 | 34 | 70 | 10 | 053
TCP1T12S 12" x 5/16" | 08B1 20 34 70 10 0524] |TCP1TASA40S ASA40 08A. 1 20 34 70 10 | 0525
TCP1T12D 12" x 5/16" | 0882 20 a4 70 10 0524] |TCP1TASA40D AsAL 2 08A. 2 25 a4 0 10 | 0536
TCP1T12T 12" x54B" | 08B3 | 345 34 70 10 0549 |TCP1TASA40T ASA40 3 0BA 3| 36 34 70 10 | 0561
TCP1T585% 58" x 3/8" 1081 22 44 a0 14 0 559] |ITCP1TASAS0S ASARD 10A.1 22 44 a0 14 | 0558
TCP1T58D 58" x3/8" | 1082 | 25 | 44 | 90 | 14 | 0576| |[TCP1TASASOD ASAED2 |10A2] 30 | 44 | 90 | 14 | 0592
50 180 TCP1T58T 5/8" x 3/8" 1083 | 415 44 90 14 0614] |TCP1TASASOT ASALRD 3 10A.3 | 44 8 44 90 14 | 0625
TCP1T345 A" x 716" | 1281 | 22 | 44 | 90 | 14 | 0559| |[TCP1TASABDS ASABOD | 12A1] 22 | 44 | 90 | 14 | 0559
TCP1T34D 34" x 71B" 1282 30 44 | 90 14 0584 |TCPI1TASABOD ASARD 2 12A.2 |1 34 8 44 90 14 | 0591
TCP1T34T 34" x 776" | 12B3 | 49 | 44 | 90 | 14 | 0634 [TCP1TASABOT ASABD3 | 12A3 576 | 44 | 90 | 14 | 0671
TCP1T1S 1" % 17 mimn 1661 25 54 110 | 185 | 0 B14] |ITCP1TASAZDS ASARD 16A.1 25 54 110 | 185 | 0 BOB
TCP1TI1D 1T"x17mwn | 1662 | 46 | 54 | 110 | 185 | 0 688| [TCP1TASASOD ASABD2 |16A2| 443 | 54 | 110 | 185 | 0,681
TCP1T114S 1"1/4 % 3/4" | 20B1 25 54 | 110 1185 | 0614) | TCP1TASASOT ASASD 3 16A3 | 736 54 |1 110 | 185 | 082
TCP1T1125 112 x1" 2481 25 I a4 110 | 185 | O0B14] |TCP1TASAT00S ASAT00 2041 25 54 110 | 185 | 0BOB
TCP1TASAIOOD | ASAIDD.2 |20A2 | 54 | 54 | 110 | 185 | 0,727
TCP1TASA120S ASAS120 | 24A.1 25 54 110 [ 185 | 0 BOB

ADD "ING” TO THE CODE FOR THE GREASER (B)

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk

TCP1T738S + ING = TCP1T38SING



120°

TCP 2

OVAL HEAD

Mi2x1,75

/— POLYETHYLENE

_~NEWTON
b

- 18 —

REFERENCE NOTCHES -

2 3gON -~

1* 220N -~
- 90 - 36 o—emns—]
NEWTON
_ CoD CHAIN PITCH | B C ) E KQ COD CHAIN PITCH q c 0 c Kg
MIN | MAX
TCP20385 :3:"8"}{?732" | ObB1 | 20 | 34 | /0 | 10 | 0965| [TCP20ASA355 | ASA3S | 06C1 | 20 | 34 | /0] 10 | 0372
TCP2038D 30" x 732" | 06B2 | 20 | 34 [ 70 [ 10 | 0365| [TCP20ASA36D | ASA352 |06C2( 20 | 34 | 70 | 10 | 0972
TCP20125 | 172" x 516" | OBB1 | 20 | 34 | 70 | 10 | O865] [TCP20ASA405 ASAD | 0BA1) 20 | 34 | 70 [ 10 | D972
TCP20120 1/2"x5/16" | 0862 | 20 | 34 | 70 | 10 | 0365] |TCP20ASA40D | ASA40Z |O0BAZ2| 26 | 34 | 70 | 10 | 0985
TCP2058S of8" x 38" | 10B1 | 22 | 44 [ 90 | 14 1| |TCP20ASAAR0S ASARD | 10AT | 22 | 44 | 90 | 14 | 1,00
120 | 500 [TCP2058D | 5/"x 38" | 10B2 | 25 | 44 | 90 | 14 | 1017] [TCP20ASAS0D | ASASD2 |10A2) 30 | 44 | 90 | 14 | 1014
TCP20545 | 3A"x 716" | 1281 | 22 | 44 | 30 | 14 1| [TCP20ASAR0S | ASABD [12A1) 22 | 44 | 90 | 14 | 1011
TCP2034D 34" x 716" | 1282 | 30 | 44 | 90 | 14 | 1025 [TCP20ASABDS ASABD | 1BAT| 25 | 54 | 110 | 185 | 1053
TCP2015 1" %17 mm | 1681 | 25 | o4 [ 110 [ 185 [ 1095] [TCP20ASAT005 | ASATOD | 0A1[ 25 | o4 185 ] 1,053
TCP201145 | 1M x 34" | 2081 | 25 | 54 | 110 1185 | 1,055] [TCP20ASAT0S | AsAS1Z0 | 24A11 25 | o4 | 185 ] 1,053
TCP201125 | 1M2x1" | 24B1 | 256 | 54 | 110 | 185 | 1,085

Fisatech s.r.o., Hlavna 361/53, 076 64 Z. Teplica, tel.:

0908 135 761, e-mall: iInfo@fisatech.sk www.fisatech.sk



TCP 2

ROUND HEAD

-18=—=B = D B _|
5 i
C
C
i !
POLYETHYLENE

_~NEWTON

-
| | e 1
ALUMINIUM
! I CH27
Mi2x1,75 v
REFERENCE NOTCHES — =
h 3* S00N »
2* 380N —
1* 220N
- 20 - g 36 S
NEWTON CHAIN PITCH cHAIN PITCH
COD B © D E K COD E C D = Ky
MIN | MAX
TCP2T38S |[3m"x7/32" | 06B1 | 20 | 34 70 10 | 0965| |TCP2TASA3ES ASA3S |oec1| 20 | 34 70 10 | 0972
TCP2T38D | 38" x7/32" | 06B2 | 20 34 70 10 | 0965| |ITCcP2TASA3SD | ASA352 [o6Cc2 | 20 34 70 10 | 0972
TCP2T38T |38"x7/32"|06B3 | 26 | 34 | 70 10 | 0976| |TCP2TASA3ST | ASA3S3 |0BC 3| 244 | 34 70 10 | 0977
TCP2T12S 172" x5/16" [ 08B1 | 20 | 34 70 10 | 0965] |TCP2TASA4DS ASA40 |osAa1] 20 | 34 70 10 | 0972
TCP2T12D | 12" x 546" | 0882 | 20 34 70 10 | 0965]| |TCcP2TASA40D | ASA402 [o8Aa2]| 25 34 70 10 | 0985
TCP2T12T 172" x5/16" | 08B3 | 345 | 34 70 10 099| |TCP2TASA40T | ASA403 |08A3 | 36 | 34 70 10 | 1,004
TCP2T58S 5/8" x3/8" | 1081 | 22 44 an 14 1] |TCP2TASASDS ASAED [10Aa1] 22 44 90 14 1.001
TCP2T58D 58" x38" [10B2 | 25 | 44 a0 14 | 1.017]| |ITcP2TASASOD | ASA502 [ 10A2] 30 | 44 a0 14 1.035
TCP2T58T 58" x3/8" | 10B3 [ 415 | 44 a0 14 | 10585| |TCP2TASASOT | ASAS03 | 10A3 | 448 | 44 an 14 1.072
o0 | son [TCP2T348 [ 3/4" x 716" [ 12B1 | 22 | 44 a0 14 1| |TCP2TASABDS ASABRD | 12Aa1 ] 22 44 a0 14 1.002
TCP2T34D | 3/4"x 776" | 12B2 | 30 | 44 a0 14 | 1.025] |ITcP2TASABOD | ASABD2 [ 12Aa2 | 348 | 44 an 14 1.038
TCP2T34T | 34" x 776" | 12B3 | 49 44 a0 14 | 1075| |TCP2TASABOT | ASABD3 [ 12A3 | 576 | 44 an 14 1.118
TCP2T1S 1"x17mwm | 18B1 | 25 | 84 | 110 | 185 | 1055 |[TCP2TASABDS AsSAsD [18A1] 25 | 54 | 110 | 185 | 1053
TCP2T1D 1"x17mwm | 16B2 | 46 | 54 | 110 [ 185 | 1.129] ITCP2TASABS0D | ASA802 | 16A2 1443 54 [ 110 | 185 1.128
TCP2T114S | 1™ x3/4" | 20B1 | 25 | 54 | 110 [ 185 | 1.055| |TCP2TASAROT | ASAB03 | 18A3 | 736 54 | 110 [ 1858 | 1267
TCP2T112S | 1"12x1" [24B1 | 25 | 54 | 110 | 185 | 1.055| |[TCP2TASAIO0S| ASA100 | 2041 25 | 54 | 110 | 185 | 1,053

TCP2TASA100D | ASA100.2 | 20A.2 | 54 54 110 | 1685 | 1,174
TCP2TASATO0T | ASAID0D.S | 20A.3 | S0 54 110 | 185 | 1,343
TCP2TASAT1205 | ASAS120 | 24A1 | 25 54 110 | 1685 | 1,053
TCP2TASA120D | ASA1202 | 24A2 | 70 54 110 | 185 | 1,249

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCO05 PU

PULLEY (NYLON , ALUMINUM , ZINC-COATED STEEL )

- Q el s ., .| A -
75° I -I_I B\ ‘
/ NEWTIZI
N .' |

iff | \'H.T o N ] y ” . - ., -

w RN - 3/ A% A Y
6 N

t:‘f. '.‘;',&1
!

|PLASTIC MATERIAL : POM

REFERENCE NOTCHES

10x1,5

B3 a 30— =I5
¢ um NEWTON
2* O0N T YTV '
-~ 0 e A | BB [0l K

[OPUIRAC | 0 | 80 | 3% | M8 | 25 | 3 | 03
JOPUIRAL | 0 | 80 | % | M| 25 | 3 | 02
ORPUINY | 0 | &) | &% | M| 25 | 3 | 020
JORPUAOANY | 0 | 80 | & | MO | b | 4 IKi
[ORPUDR0AC | 0 | 80 | &0 [ M2 25 | &0 | 0gh
JOPURDRAL | 0 | 80 | &0 | M2 25 | &0 | 0Ad
JORPURRONY | 30 | &) | 0 | M2 | 25 | &0 | 04k

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



REFERENCE NOTCHES /

4*180N
3*120N
2* 80N
1* 50N

M10x1,5—|

TC1 PU

\\\_
60°

EWTON

ALUMINIUM

PULLEY (NYLON , ALUMINUM, ZINC-COATED STEEL )

COD T A 51 C Q@ | Kg
TC1PU4045NY 50 180 a5 5 | X a0 0,556
TC1PUSOS0AC 50 180 50 25 _|__x 50 1,057
TC1PUSO50AL 50 180 50 25 | X 50 0,75
TC1PUSOS0NY | 50 180 50 55 | X I 50 0,652
TC1PUBDBOAC 50 180 50 25 | X 50 157
TC1PUBDBOAL 50| 180 50 25 | X 50 0971
TC1PUBOBONY 50 180 50 25 | X I 50 0,715
TC1PUBOBOAC 50 180 30 25 M12 30 3,141
TC1PUBOB0AL 50 180 80 25 M12 80 1,587
TC1PUSOBONY 50 180 30 25 M12 30 1,065

- ADD ING” 7O THE CODE FOR _THE GREASER (B)
|

TCT1PU4045NY + ING = TCT1PU4045NYING

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TC2 PU

PULLEY (NYLON , ALUMINUM, ZINC-COATED STEEL )

e e A

M12x1,73

REFERENCE NOTCHES

ALUMINIUM

NEWTON
COD TR B B | 0@ | K
TC2PU4045NY 120 | 500 | 45 X B 20 | 103
TC2PUS050AC 120 | 500 | & X 25 50 | 1502
TC2PUS050AL 120 | 500 | & X 25 50 | 1,192
# ATC2PUSOSONY 120 | 500 | & X 25 50 | 1,0%
3* 500N TC2PUBOBOAC 120 | 500 | X 25 B0 | 2,005
T oo TC2PUBOB0AL 120 | 500 | EC X 25 50 | 1,406
TC2PUBOBONY 120 | 500 | G X 25 60 | 1,15
TC2PUS0B0AC 120 | 500 | & MI2 | 25 80 | 3578
TC2PUS080AL 120 | 500 | & MI2 | 25 80 | 2023
TC2PUS080NY 120 | 500 | ¢ MI2 | 25 80 | 15
TC2PUSD90AC 120 | 500 | o MI2 | 25 80 | 4016
TC2PUS090AL 120 | 500 | o MI2 | 25 80 | 219
TC2PUS090NY 120 | 500 Eh MI2 | 25 80 1578

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



=
"

L

TC 05-1-2 PUG

WITH PA-6 PLASTIC MATERIAL RIM PULLEY

Su richiesta pulegge PUG in alluminio e acciaio zincato
On demand there are available aluminium or zinc-coated steelrim pulle
Ala demande on a des goulies a cannelure PUG en aluminium op-aere

A solicitud hay

TCIPUG

REFERENCE NOTCHES -

LReero cincado_o aluminio

41.9-

TC2PUG

PS

O

5 d

L -,
L - | F =
NEWTON

cOoD MIN_MM_ A B | B1 | £ D E F 5 L. M N Q(] - -~ | T U ¥ F K4
TCOSPUG3 | 30 | B0 | 373 15 | 10 | X | 755 65 | 30 | 5 | W10 |POM| MiOx15 | 765 | 168 | 6 | 137 38 | 50 | 75° | 038
TCO5PUGA | 30 | 80 |373] 15 | 10 | X |755] 65 | 30 | 5 | MI0|POM| MIOx15] 102 | 168 ] 6 | 137 | 38 | 754 | 75° 0404
TCT1PUGS A0 [ 180 |37 3] 15 . i X |18bs | 7L 30 H % AL [ MI0x15 (765|168 | B 137 | 38 50 | BO® 0B
TC1PUGS A0 | 180 _3?,3 15 i X o1abs | 7L A H X AL [ M10x1 5 102 | 168 | B 1371 38 | /754 | B0° |0B22
TCTPUG3ING a0 | 180 | 37 3 _ 15 _ ! ING |8b5 | 7C A 5 X AL | M10x1 5 ' /b5 _ 168 _ b ' 13,7 _ 30 ‘ 50 | BO° 06
TCTPUGAING 50 [ 180 |37 3] 15 1 ING |BBA | 7L 3 H __}_(_ AL [ M10x1 5 102 | 168 | b 137 38 | 754 | 60° |0B22
e = Sl A T O A L R WP W P W RS
TC2PUGS 120 | 500 (37 3| 18 10 X 100 | S0 36 ! po AL IMI12x1 75| 7/B5 (168 | b 137 | 36 50 | 45° | 1.036
TCZ2PUGS 120 | 500 |37 3] 18 10 X 100 | 90 36 ! X AL M123{1,?5_ 102 1168 | b ’3,?_ J8 | /54| 45° _1,058
FPOM PLASTIC MATERIAL : POM
AL ALUMINIUM

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.. 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



Sassi Lorenzo
Timbro


REFERENCE NOTCHES

* 80N
* 70N

* O0N
* 30N

—_ U W A

TCRO5 AC\RS

WITH SPROCKET

PLASTIC MATERIAL : POM

7

+ TE

HARDENED TEETH

NEWTON
0D CHAIN PITCH TEETH A g
MIN | MAX
TCROSAC385 0 [ 80 [ amw7Ar [oeBt [ 2 [ 91 | 041
TCROSAC12S 0 [ 80 [ 12'x5n6" (o8Bt [ 16 [ 91 | 04%
TCROSRS3 [ 30 [ 80 [ 3«72 [o6Bt [ 15 [ 65 [ 0375
TCROSRS!? 0 [ 80 [ 12'x5n6" (o8Bt [ 15 [ 65 | 0302
+TE:HARDENED TEETH
TCROSACSTE [ 30 [ 80 [ 3m'x7m2 [oeBt [ 21 [ 91 [ 0411
TCROSACI2STE | 30 [ 80 [ 12'x5M6" [08B1 [ 16 [ 91 [ 043

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCR1 AC

WITH SPROCKET

+ TE

HARDENED TEETH

1 3

t OO O T

.—Ff- = - ﬂ
60{:"#" - 60 .
o . — S

NEWTON
‘(-I
1|.."'.'.
L 2N
Ni, _f,i O
L - NN
‘f“\xﬁ - J?-* f’/'_’;"%H E"
W X‘“ -
N\ / N
86.5 ' F/K \
N \
W\ A\
W\ a‘x‘“_
W
W\ \\'H
\\ \E':(“:f
!
M10x1,5— |
- 4*180N
REFERENCE NOTCHES 3120
— ! > 8ON — -
B_,_ -——"""re;-h ‘ B_-'r";-u-" o 50” e .
. 70 - ~—30—='5=
cOoDb NEWTON CHAIN PITCH TEETH A g
PN M1AK
TCR1ACIES S0 180 S3/8" x 732" 06EB1 21 2.1 0,644
TCR1AC3E8D S0 180 38" x 7/32" OB2 21 11 0,776
TCR1ACI1I2S S 180 12" 516" 0cB1 16 3.1 067
TCR1ACT12D S 180 12" x 5/1Bb" osB2 16 125 0,851
TCR1ACSES S0 180 5/8" x 3/8" 1081 17 9.1 0,864
TCR1ACS3D S0 180 | 558" x 3/8" 1082 i I 153 1 35¢
TCR1ACS4S ol 180 3/4" x 7/1Bb" 1281 15 9.1 0973
TCR1ACS4D S0 180 34" »x 7/1B" 1282 15 17 6 1. 609
TCR1ACTS S0 180 1" % 17 myn 16681 12 11,3 1,247
TCR1ACT145 50 1580 1"1/4 x 3/4" 20B1 = 113 1,211
+ TE:HARDENED TEETH
TCR1ACSESTE S0 180 3/8" x 7/32" OaB1 21 9.1 0,644
TCRTAC12S5TE S0 180 142" % 516" US8B1 16 91 067
TCR1ACSESSTE S0 180 508" x 3/8" 1081 17 9.1 0,564
TCR1AC34S5TE S0 180 34" »x 7/1B" 1281 15 9.1 0973
TCR1ACISTE S0 180 1" % 17 mim 1681 12 ) Iy S 1247
B ADD “ING™ TO THE CODE FOR THE GREASER (D)

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCR1 RS-RD-RT

WITH SPROCKET

II'I
'''''
AN

REFERENCE NOTCHES -

\

4*180N

3*120N ’

o 80N cOD CHAIN PITCH TEETH A C K

* 50N MIN \ MAX ]
TCR1RS386 50 180 3/8" x 7/32" 06E1 15 b5 X 0536
TCR1RD38 50 180 3/8" x 7/32" 0662 15 11.5 X 0 602
TCR1RT38 50 180 3/8" x 7/32" 06E3 18 16,5 X U667
TCR1RS12 50 | 180 12" x 5/16" UEEB1 15 b5 X 0 609
TCR1RD12 50 180 12" x 5/1B" 0862 15 13,45 X 0,751
TCR1RT12 50 180 12" x 5/1B" 0863 15 20 .4 M10 0 905
TCR1RS558 50 | 180 58" x 3/8" 1081 15 85 X 0,767
TCR1RDSE 50 180 58" x 3/8" 10682 15 16,75 X 1,051
TCR1RTSE 50 180 58" x 3/8" 1083 15 25 12 1,351
TCR1RS34 50 180 3/4" x 7/1B" 12681 15 85 X 0 966
TCR1RD34 50 | 180 34" x 7/1B" 12682 15 18,25 X 1,466
TCR1RT34 50 180 3/4" x 7/16" 12683 15 28 M12 1974
TCR1RS1 50 180 1" % 17 m\m 1661 13 10 X 1,364
TCR1RD1 50 | 180 1" x 17 mi\m 1662 12 27 3 M 12 207
TCR1RT1 50 180 1" x 17 m\m 1683 12 43 3 12 287
TCR1RD114 50 180 1"174 x 3/4" 2082 9 29 5 h12 2017

B ADD "ING" TO THE CODE FOR THE GREASER (B)

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCR2 AC

WITH SPROCKET

1

|
-] -
==
A SR — i E
= | =
ohs
| + TE — i [
=
HARDENED TEETH —
i Ll
45° N 45”
&3
NEWION= © 5 ~NEWTON 2s
\ L% : il
/ Wi
D P H
. - ' —
. & A '8 iny,, "
[ P . 1 e ?% | o
s, F_t_,../ x ——
C 0% £ ) H
'u_::,h "h',w }':T"# g ._.
) | i
¥l
\ y / 7
W !
100 b W iy 8
" !
bW .
i i
{5 F
\ .
Y U ‘
o
! | CH27
//’
Mi2x1,75 s ,
/
REFERENCE NOTCHES ALUMINIUM
20 - —36 Ly
COD NEVWTON CHAIMN PITCH TEETH A K
P 1 P
TCRZ2AC38S 120 500 . 38" x 7/32" 0D6EB1 21 9.1 1,082
TCRZ2ACI3BD 120 S0 3/8" x 7 /32" B2 21 11 1,211
3+ S00N __ TCR2AC12S 120 500 1/2" x 5/16" 0SB 1 16 9,1 1,107
oe 38ON - TCR2AC12D 120 500 1/2" x 5/16" 0882 16 12,5 1,266
1* 220N — TCHRZALCS0S 120 S0 | S5/8° x 3/9° 1081 P 9.1 1,301
TCRZ2ACSE8D 120 SO0 58" x 3/8" 1082 17 15 3 1,795
TCRZ2AC34S 120 S00 3/4" x 716" 12B1 15 9.1 1.41
TCRZAC34D 120 SO0 34" «x F A" 1282 15 17 b 2,041
TCRZ2ACTS 120 S00 | 1" x 17 mym 1681 12 113 1. 6862
TCRZ2AC114S 120 S . 1174 x 314" 2081 9 11 3 1 b51
TCRZ2AC112S 120 SO0 1"1/2 = 1" 2481 9 136 2.2V
TCRZ2AC1345S 120 SO0 1"374 = 1"1/4 26881 9 16 3 3 2007
+TE: HARDENED TEETH
TCRZ2AC38STE 120 SO0 38" % 7327 OeB1 21 9.1 1,082
TCRZ2ACI125TE 120 500 . 1/2% v 5M1B" 08B1 16 9.1 1.107
TCRZ2ACSES TE 120 SO0 58" x 38" 1081 17 9 1 1,301
TCRZ2AC34AS5TE 120 SO0 34" x 716" 1281 15 9.1 1.41
TCR2ACT1STE 120 S00 1" %17 mvm 1681 12 11 3 1. 682

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk



TCR2 RS-RD-RT

WITH SPROCKET

'-M.\N -]
45 45
ff"xf 1""*-,.‘_‘ N
o N
\ NEWTON- _NEWTON /
: j/.r’
) /
” /
\ . 7
i R .,
\1"' ,:.'-f.. o
A 7% )
% ‘-ﬂt N ’
1 . ;
\ > iy [
\: . 2
11}.'.-, LI SPACER
",‘L_. x'_ﬁ .
| ] AL
o — a1
C F I B 74 0 g
(2 (—
. 1 » | ! - ! pa ! [
| T+ O IEEEC
" [ - s e S | .
M12x1,75 | H Py
# t I L1 L g
- — Lo 3§ —
ALUMINIUM 4 Lid L
REFERENCE NOTCHES — e Lad A
20 " - 36 -7
NEWTOMN e
COD | CHAIM PITCH Bl = =)0 A C K 9
MIN | MAX -
)\ TCR2RS38 120 500 3/8" x 7/32" 06B1 15 B5 % 0971
' - " TCR2RD38 120 500 38" x 7/32" 0682 15 115 X 1,036
i N TCR2RT38 120 | 500 3/8" x 7/32" 06B3 15 16,5 X 1.102
1* 220N — TCR2RS12 120 500 12" x 5/1B" 08B1 15 5,5 X 1J:|44
TCR2RD12 120 500 1/2" % 5/16" 08B2 15 13 45 % 1,186
TCR2RT12 120 500 1/2" % 5/16" 08B3 15 204 | X [ 1333
TCR2RS58 120 500 5/8" % 3/8" 10B1 15 85 % 1,202
TCR2RD58 120 500 5/8" x 3/8" 1082 15 16 75 X 1,482
TCR2RTS8 120 500 5/8" x 3/8" 10B3 15 25 % 1772
TCR2RS34 120 500 3/4" x 7/16" 12B1 15 85 X 1.4
TCR2RD34 120 500 3/4" x 7/16" 1282 15 18 25 X 19
TCR2RT34 120 500 3/4" x 7/16" 1283 15 28 % 2 395
TCR2RS1 120 500 1" % 17 mim 16B1 13 10 ¥ 1,82
TCR2RD1 120 500 1" % 17 m\m 1682 12 27 3 M12 2 512
TCR2RT1 120 500 1" % 17 mim 1683 12 433 M 12 3,303
TCR2RD114 120 500 1"1/4 x 3/4" 2082 E 29 5 12 2 46
TCR2RD112 120 500 1"12 x 1" 2482 E 38 M12 3578
TCR2RD134 120 500 1"344 x 1"1/4 2882 = 45,1 12 562

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.: 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk




METHOD 1

For allthe tensioners TC also for the one including pulleys or polyethylene head... )
Loosen the bolt A

Rotate the hexagon B as much as to get the right tension ( also thanks to notches C)
Tighten the bolt A without release the hexagon B,

Release the hexagon B,

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.. 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk




METHOD 2

For all the tensioners TC also the one including pulleys or polyethylene head...

Loosen the bolt A ( The bolt A must have a diameter lower then the hole of the hexagon B . Ex TC1 68 TC2 910)
Rotate the hexagon B as much as to get the right tension ( thanks to notches C).

Tighten the bolt A without release the hexagon B.

Release the hexagon B.

Fisatech s.r.o0., Hlavna 361/53, 076 64 Z. Teplica, tel.. 0908 135 761, e-mail: info@fisatech.sk www.fisatech.sk






